. Marsupials occupy an intermediate position
between the primitive mammals (monotremes) and
the higher mammals (Eutherians). How ?

AT YO YA TELRA q9 o9 wHeAl &
9 T HeFed TF @ g1 Sy ?

. Write notes on the following :

(@) Allelic gene interaction

(b) Phenocopy

frafafea w dfea femfiar fafey -
(31) worela S wER feman

() AR

. What is LOD score and how it will be useful for

estimating linkage distances ?

LOD TR &1 § q1 ¥gerish g & STANH H &y
ST ¥ 2

. How mutations can be detected using the Ames
test ?

SCARERE 1 TH THG0 R Hd U I S § 2
. Describe the lytic and lysogenic cycle in a
bacteriophage.

sfesh AN AISHSIh o 1 F0F ity (Sfamy-
oISt #)

. Describe type of bio-sensors, give suitable
applications and important threats.

g agh wt e witve, 3fea stgwan fafew qen
TREEU Tl SaEu |
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Microbiology)
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Note .— The question paper is divided into two Sections

A and B. Write answers as per the given
instructions.

Eor - o' yvA-uw ‘o1’ iR ‘9’ 1 wuEl § fawifea §1 veew

g & EYER wo+ & W e
Section-A 4%x4=16
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of

the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 4 marks.
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v -

1. (O

(ii)

(iii)

(iv)

v)

(vi)

(vii)

Q|ug—3
(fa &g 3T ue)

fFsl w® v & S AW s et S|
TAHAR T I, T 999 a1 Afusdhas 30 =g |
TiEifqa HINT | T 999 4 3Tl @ T

Name the phyla included under Archaeostomia.
SR § a1 A wei & W fare |
Draw a well labelled diagram of Balanoglossus.
ST F GAMIRd o SR |

Classify Branchiostoma.

Sferarem sfted wifeT |

What is the significance of neoteny as per
Weismann.

diSHE & STER ferehar &1 #1 e § ?

Which is first jawed vertebrate ?

IR SESH HITh HAH T 2
Name the rwo orders of Teleostomi.
fear2mt & < o & A fafem |

In which period Ostracoderms became
extinct ?

ewed fva = # fagqa gu ?
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(viii) Amphibia has two subclasses with three orders
in each. Name the orders.

TARIEET & & Syart @ fored 9 & a9 T
g1 it & 9w fefem)
Section-B 4%x16=64
(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries
16 marks.

Qg —d
(g 3THT T99)
o - fH=l 9 gl & SW JfSul o9 et SW Wl
arfererae 200 ve5i H UREifHa wifSw) vaw 99
16 3Tt &1 1

2. The poison apparatus of snakes consists of a pair
of person glands, their ducts and pair of fangs.
Elaborate.

Tt § faw Sy Sifer e St faw ufe, SRt Afaen
e ww Sl faten 3fa 2 1 famga wifsw

3. “Bird migration is one of the most spectacular
event in the animal kingdom.” Throw light on this
statement incorporating types, causes of migration.
“geft TATE WO SO HT TH SR T g1 SE
F W JAE H FRO 9 YRR & g<d H gHw

T |
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